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CH2l: THoH 22l ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S2IAMX(UDHRAT) SURIEX FulA
& 1,695,000,000& * 100 2 1,695,000
= 847,500
[ 84,750
T 762,750
03 Al 20HHI 5,000 4,000 1,000
CTAMK (AN T) SULIBXI ZHIA
5 5,000,000& 5,000
= 2,500
& 250
= 2,250
NEXESLME 2 14,080 9,297 4,783
301 LEtE N = 13,175 8,937 4,238
11 #AIAMHIXIZ S 2,550 2,550 0
oAlEME WE FIHl H 2SXH
2,550,000 2,550
14 J|Et2a s 10,625 6,387 4,238
CUTIE SHES 1= L oEEY| 2
30,0002 1814 5,430
cdMEgs 7=l A=
1,43581+20 £ 1819 5,19
307 gl2to| & 905 360 545
06 28= 905 360 545
cAgES M 2
5,0002 %181 905
o= 46,600 73,600 A27,000
201 Ler23 | 600 600 0
02 S5=24g4l 600 600 0
oMol P2 SA SEHEAAYE HHHL]
ANEZ 50,000& * 122 600
302 OI=H Mol 2at= 46,000 52,000 26,000
02 QI SRS S22 = 46,000 52,000 26,000
=g Mo+ 25
100,000 #4007+ 40,000
oMoi= HIE =25
150,000 x25+20H 6.000
HY2LZHI(HLA D) 161,726 136,997 24,729
eIg =g 120,996 96,267 24,729
el 2d| 120,99 9,267 24,729
101 21AH| 120,99 96,267 24,729
01 2= 62,373 56,505 5,868
oAZRZR+H
11,6023 x16H#28Al 2t 12 62,373
02 JIEtM = 58,623 39,762 18,861
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A BN I= S
M HAPAZH|(MHrA D)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oA 2REY(E)
10,8212 +3E+57 Al 2t 128 22,205
o0f222+g(#3)
28,2562 x3H* 102+ 122 10,173
I CE)
86,9802 «3E *3A| 2+ 123 9,394
S AL 224 (AIZHIER)
10,0302 x5 #28A1 2t 123 16,851
Jl=23H| 40,730 40,730 0
Jl=23H] 40,730 40,730 0
201 fet=23y| 29,450 29,450 0
01 AtR2te|HI 29,450 29,450 0
oS ALE X 25,0003 +202t Ax53] 2,500
oIelH ARE 16,000
£ 1,000,000& *42] 4,000
£ 250,000 +6CH+82] 12,000
od=J| gz 53,900 x2CH* 122 1,294
oZIIHEI| YUz
51,800 =20 * 122 1,244
=JIEH AIRES 12,0002 *395+42 1,872
SH2A=E 6,540
- 20,0002« 102+ 122 2,400
NIEON 15,0003 »232+ 123 4,140
203 g4l 11,280 11,280
01 J|22gdR=aH] 6,000 6,000
ocHLAMA=F 1,500,000 x4= 7| 6,000
M A2 LRFEI 5,280 5,280 0
=302 =1t
(400,00024+(5,00024 %82 ) )« 12& 5,280
HeEs(THterd ) 431,148 416,323 14,825
WA XIE 431,148 416,323 14,825
WEHeHXIE 431,148 416,323 14,825
R I1sdES 431,148 416,323 14,825
01 JIsd8EsS 431,148 416,323 14,825
olittells dE= 431,148,000& 431,148
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